Logs
1.  log(100) = log(10) + log(10)    add factors of multiples

2.   log (20^3)  = log(8000) = log(20) + log(20) + log(20) = 3 log(20)

3.    If you have log(n^x) then n is a factor x times so you can put x in the front as a coefficient 
       log(50 *3)  = 3 log(50)

4.  log (10 ^7)  - as base gets bigger it is just one more power of 10 so it equals

     7 * log(10)

5.    log224   =   4 *  log22  because every time you raise the base you can add one on to the coefficient because the log is trying to find out the power

6.  log (20) + log(30) = log(600) 
7.  log212 = x

     2x = 12

   log(2x) = log(12)

   x  log (2)   = log(12)

   x = log(12) / log(2)

8.    log (50)  = log(10) + log(5)   = 1 + log(5)

        log(700) =  log(100) + log(7)   = 2 + log(7)
  9.  log2 80 = log216 + log2 5    = 4 + log25
10.     log 216  = log22 + log22 +  log22 +  log22 =  4 log 22  =  4 

11.    log(10x)   =   x log(10)  because every time you raise it one more number it increases the exponent by 1, which is what the log is asking fo
